=)
7@~ SESAME

*“ www.sesamemolor.com




36



37‘

PHF SERIES FEATURES PHF%3I Emi3as

N

G ERAERS SN - BSREEERERE
» RSN T - LISSREREE - BiERE

REmEReT -

Alloy steel gear with unique heat treatment.

Additionally, with gear grinding process-ing to get

the best accuracy, high wear resistance and high

impact toughness.

87 -

TEEERRHDEMEEt—ENE - BRIEERR
s . URASZHOSEHREOS 8RR

» MR TENBRAEE » ThERIRARSEIER
bNESHOSERENSSEES -

Planetary arm bracket and output shaft are one-piece
constructed, using tapered roller bearings can bear the
axial load and radial load that are more than deep
groove ball bearings. Setting the bearing apart for
larger span to reach the largest torsional rigidity and
contribute high axial load and radial load capacity.

HOHEEERSE R R REEER
BB EBEE  RISREDREME
ERERSmE L NMRRIOERET -
OEREEREER - NIBE)ZR
HYZER] -

Grinding process to smooth surface
of output shaft, and with oil seal to
minimum friction coefficient and
reducing start up load; result in the

best seal-ability and extended lifespan.

Hollow out-put shaft connect perfectly
with circular flange drastically reducing
the installation space.

£ SESAME

=4

www.sesamemofor.com

SERVO MOTOR GEARHEADS

EEREENERASHREE - MEHDITEREE E
DERRAEEEER) BRAE - ReEEnEREH

Planet gear transmission interface equipped with needle
bearings, full needle roller bearings aligned without retainer
achieve maximum exposure but smallest gap tolerances.
Enhance over-all gear structure rigid and output torque.

HARMSRBEADMEETS AR EEIME -
HERICER O - BMESEET  BaT
ENRLWERSRZEETEE -

Input-end and motor shaft are coupled through
a dynamic balanced collar clamping mechanism
to ensure connection interface concentricity and
zero slip power transmission at high speed.

SERIEEERET A AJHME
ZRES  JREEME2ER - SES
ErEEECEE -

Advanced motor bracket design coupled
with the input shaft bushing is easy to
mount to any servo or stepper motor.

SERERRREEE  WE  WEM . RES
SRR RREEK - AHEHEERRE 8
TR » BEBREEREEHNT - BE5ES
B Sl - MEFESREE -

Advanced electroless nickel plating surface
treatment resists scratch and corrosion.
Suitable for stringent require of high-tech
equipment. The gear box and internal gear

ring are one-piece constructed, and then

machinery for high-precision, high torque and
abrade consumption.

processed with advanced Germany gear shaper

PHF ARSI EEREERET O FFHER S ESS
RAVEAA - ERIR AR - BOER
FRZEFRERET » OIS ECE B ARMIEERS » K
MR/ 2R HY2PE] - BRI RE
2SR BEHEEFNER S8R
 BIRERRSMOTEREM -

PHF series overall design suitable for
combination operation with servo motor
high-speed input and achieves maximum
torque output. Hollow out-put shaft
connects perfectly with circular flange
drastically reducing the installation space.
Precision helical gear design and gear
processing create a planetary gearhead
with low backlash operation, high efficiency,
low noise and long lifespan.

ERECHRRE CEREE - TERMHE -
FRIPEORIFEFRAV BRI ET - W IRARREER

s RiE - ZRE -

High-tech oil seal design on the upper lip guard
against dust intruder, lower lip to guard against

oil leak. Protection grade IP65 safeguards fully

avoid leaking problem, and given it maintenance-free.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. ESEASFEAFINERFREUFRTHRE FEREREN -

72 SESAME

< ) 38
www.sesamemotor.com | ]



PHF Single Stage Dimensions PHFEERSINEIRTE

c9
g - L4I__;_ :In_ : L8 c8 ac?
= =—-‘ C1D
-B-
L = - B
L o
~ Er b ng ™ EF b u‘-:'e
alg| o alg| Q| 7|~ 1 I _l O
s s s g8 8 2 i b
2 g o
== o I Y - ¢
=} X ®
L Ceé
L2 :él X ca e
oF
o
Specifications 1% Unit:mm
==t Dimensions PHF42 PHF60 PHFS0 PHF115 PHF142 PHF200 PHF255
D1n7 12 20 315 40 50 80 100
D2 20 315 50 63 80 125 140
D3ny 28 40 63 80 100 160 180
D4 n7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
Dé M3x0.5P M5x0.8P M6x1.0P Méx1.0P M8x1.25P M10x1.5P M16x2.0P
D7 72 86 118 145 179 247 300
D8H7 3 5 6 6 8 10 12
D9 34 45 5.5 55 6.6 9 135
D10 60 70 95 120 152 212 255
D11 46.2 63.2 89.2 109.2 1392 199.2 254.2
L1 4 8 12 12 12 12 20
L2 6 7.2 12 13.5 16 225 30.5
L3 3 3 6 6 6 8 12
L4 19.5 195 30 29 38 50 66
L5 7 7 10 10 146 15 20
L6 4 4 7 8 10 12 18
L7 5 27 8 10 12 17 39.5
L8 25 37.5 36.5 545 65 92 118
L9 4 6 7 7 7 10 10
G4 46 70 90 115 145 200 235
2’ M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
c3? =8/<11 =14 =19/<24 <£24/<32 =35/238 =50 £55
c4? 281 36.5 412 51.1 69.7 81 112
C5%r6 30 50 70 95 110 114.3 200
c6’ 4 4 6.7 6 85 6 6
crd 42 60 90 115 140 182 220
cg? 16.5 19 255 30 38 40 50
c9? 748 925 107 131:5 L7ES 215 271
c10? 74 9 113 139 17.8 21 21
oD 56x2 66x2 90x3 110x3 145x3 200x5 238x5
* Cl~CIOBEANBEHEFEEERR S FERFMEANRERE. * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to motor flange.
* ELTHEESHL PRRAEETRSE LTS * Specification subject to change without notice.
=)
7%~ SESAME

www.sesamemotor.com




SERVO MOTOR GEARHEADS

PHF Double Stage Dimensions-1 PHF&ERSNEIR ~TE-1

c9
L4 LB L8 c8
g - _|_-_$ I_L_‘T oo oC7
=
Lo} = _ B
=
Bl HA AR
SREEEE -;r— ) r 8
88 &g 88 O ! . =1
— I
I
8 j - 9
FTT
= S o C6
L2 g X 5 c4
s X
S
o
Specifications 1% Unitmm
R=F Dimensions PHF42 PHF60 PHF90
D1w7 12 20 315
D2 20 315 50
D3 h7 28 40 63
Dan7 47 64 90
D5 67 79 109
D6 M3x0.5P M5x0.8P M6x1.0P
D7 72 86 118
D8x7 3 5 6
D9 34 45 55
D10 60 70 95
D11 462 63.2 89.2
L1 4 8 12
L2 6 7.2 12
L3 3 3 6
L4 195 195 30
L5 7 7 10
L6 4 4 7
L7 5 7.7 8
L8 545 725 815
L9 4 6 7
€12 46 70 90
c2? M4x0.7P M5x0.8P M6x1.0P
c3? <8/<11 <14 £19/<24
ca’ 281 36.4 412
C5%F6 30 50 70
c6? 4 4 6.7
c7? 42 60 90
cg? 16.5 19 255
c9? 102.5 1275 151.1
c10? 7.4 9 113
oD 56x2 66x2 90x3

* Cl-COBRAMERREERRL ST FRMERNRERE.
* RO EHS ML PR RARETRN SR ETER

* C1~C9 are motor specific dimensions{metric std shown },
Size may vary according to the motor flange.
* Specification subject to change without notice,

727 SESAME

www.sesamemotor.com




PHF Double Stage Dimensions-2 PHFEEREIRTE-2

cs
a L4 L6 L8 cs
&
T oct
=
-B- c10
L9
] Z n =

DT
@®D5
@D4nr
@D11
@D 307
@D2
@D by H
| | |: | |
1
-
1 T
1
©
C3

F=F44 W f
w0
a . c6
BN C4
L2l |8 =X
p=1
Specifications #R1& Unit:mm
R2~F Dimensions PHF60T PHFI0T PHF115T PHF142T PHF200T PHF255T

D1H7 20 315 40 50 80 100
D2 315 50 63 80 125 140
D3 h7 40 63 80 100 160 180
D4 h7 64 90 110 140 200 255
D5 79 109 135 168 233 280
D6 M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P M16x2.0P
D7 86 118 145 179 247 300
D8 H7 5 6 6 8 10 12
D9 45 55 55 6.6 9 135
D10 70 95 120 152 212 255
D11 63.2 89.2 109.2 139.2 199.2 254.2
L1 8 12 12 12 12 20
L2 il 12 135 16 225 305
13 3 6 6 6 8 12
L4 195 30 29 38 50 66
L5 7 10 10 146 15 20
L6 4 7 8 10 12 18
17 77 8 10 12 17 395
L8 65.2 69.5 935 110 161.7 192
L9 6 7 7 7 10 10
C12 46 70 90 115 145 200
€22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
C32 <8/<11 <14 <19/<24 <24/<32 <35/<38 <50
ca2 28.1 36.5 412 511 69.7 81
€526 30 50 70 95 110 114.3
62 4 4 6.7 6 85 6
C7? 42 60 90 115 140 180
cg? 165 19 255 30 38 40
€92 1132 138 1631 198 281 335
€102 74 9 113 139 178 21
oD B6x2 90x3 110x3 145x3 200x5 238x%5

* Cl-COBANEERESEOR T FRFEANEERE. * C1~C9 are motor specific dimensions{metric std shown ),
Size may vary according to motor flange.
* BT EEH L CRBABETR BB LETEH * Specification subject to change without notice.

=
i ‘ %~ SESAME
www.sesamemotor.com



SERVO MOTOR GEARHEADS

PHF Flange Dimensions PHFZBEER T E

PHF42

PHF142
PHF200
PHF255

&\%‘*«‘\\ﬂ
%.‘;’fai‘v"?ii

@B D3n7
Specifications ik Unit:mm
R Dimensions | PHF42 | PHF60 | PHFS0 | PHF115 | PHFI42 | PHF200 |  PHF255
D1w7 12 20 315 40 50 80 100
D2 20 315 i 50 63 80 f 125 140
D3 w7 28 40 | 63 80 100 | 160 180
D4 7 47 64 | 90 110 140 | 200 255
D5 67 79 | 109 135 168 233 280
D6 M3x0.5P M5x0.8P I M&x1.0P MEx1.0P M8x1.25P | MI10x1.5P M16x2.0P
D8 u7 3 5 & 6 8 10 12
D9 34 45 | 55 55 6.6 ' 9 135
* EOSEEHEL FTHERBETRNBE L ETEN +* Specification subject to change without notice.

=
www.sesamemotor.com

7~ SESAME |



PHF Specifications Table PHFt#:EER1BHER

184 Specifications Sk | Wl | PHF-42  PHF-60  PHF-90  PHF-IS  PHF-142  PHF-200  PHF-255
3 2 40 105 180 310 580 1100
4 16 43 110 240 450 1100 1700
1 5 17 50 130 290 530 1200 2000
7 14 44 125 270 450 1100 1750
10 11 37 95 220 360 900 1450
Sﬁg‘e WRLL | PHF-42 PHF-60(T) PHF-9O(T) PHF-1IST PHF-142T PHF-200T  PHF-255T
15 - 40 105 180 210 580 2000
Nafzf%ujgﬁ Ié’:que Nem 20 16 13 110 240 450 1100 2000
25 17 50 130 290 530 1200 2000
20 17 50 130 290 530 1200 2000
2 35 17 50 130 290 530 1200 2000
40 17 50 130 290 530 1200 2000
50 17 50 130 290 530 1200 2000
70 14 44 125 270 450 1100 1750
100 11 37 95 220 360 900 1450
=14 Tanot Nem _ . 30fEEmE@mEiNsE (3.0 imes of Nominal Output Torque)
Emergency Stop Torque (* B AE L 1% Max. Output Torque T2B =60% of Emergency Stop Torque)
- iﬁigﬁgﬁ Sr;;"ed rpm 12 | 3100 | so00 5000 4000 4000 3000 3000 2000
%ﬁﬁﬁgﬁmx rem 1.2 3-100 10000 10000 8000 8000 6000 5000 4000
BREEER , 1 3-10 <2 <2 <2 <1 <1 <1 <1
Micro Backlash PO aremin 2 12100 | <4 <4 <4 <3 <3 <3 <3
B , 1 3-10 <4 <4 <4 <3 <3 <3 <3
Precision Backlash P1 e 2 12-100 | <6 <6 <6 <5 s <5 5
AR ; 1 3-10 <6 <6 <6 =5 <5 <5 <5
Standard Backlash P2 sremin 2 12-100 | <8 <8 <8 <7 <7 <7 <7
8Bt Torsional Rigidity /aNr .y 12 3-100 6 12 30 80 150 450 1000
Mﬁ?gﬁﬁf&ﬁ;t Nem 12 | 3100 | 43 125 288 503 1470 2950 6080
ﬁ?ﬂgg f;a:; N 12 3-100 1015 1340 2868 3890 9850 12560 21850
fEFEE Operating Temp. °C 3-100 -10°C ~+90°C
& Fi B anService Life hr 3-100 30,000 (15,000/ iZ##%3E#% Continuous operation)
e i 1 3-10 297%
Efficiency 2 12-100 294%
EB K 1 3-10 0.7 15 33 6.2 136 321 63.3
Weight 9 2 12-100 11 2.3/1.8 6.0/4.1 81 1789 386 79.5
L&A 1m Mounting Position - 12 3-100 = A @Ay direction
S8 Noise Level ? dBA/1m 12 3-100 56 58 60 63 65 67 70
P5#E5 4R Protection Class - 1,2 3-100 P65
8 Lubrication - 12 3-100 S A Synthetic Lubricant
A A EN S 2 Inertia(J1)
Ei$iStage Bk ERatio Efitunit PHF-42 PHF-60 PHF-90 PHF-115 PHF-142  PHF-200 PHF-255
3 3 019 072 235 9.05 29.80 72.50
4 0.02 018 067 166 717 25.86 58.21
1 5 002 017 0.65 150 6.52 23.63 54.36
7 002 014 060 145 617 2292 5412
10 Kg » cm? 0.02 0.14 058 141 6.10 22.73 53.98
Hi#iStage JH i tERatio PHF-42 PHF-60(T) PHF-90(T) PHF-115T PHF-142T PHF-200T PHF-255T
15/20/25 0.02 017(002)  0.65(0.17) 0.65 150 6.52 2363
2 30/35/40 0.02 014(002)  0.60(0.14) 0.60 145 6.17 2292
50/70/100 0.02 0.14(002)  0.58(0.14) 058 141 6.10 2273
* 1. Wi 100rpm §5,/E ARSI L #8P0 {1 B Applied to the output shaft center @100rpm.
*2.3000rpm Z# =R Measured at 3000rpm with no load )
HKEANTFEE L FRIRSEETRIEERTTSA - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

EREARRESRENSERSRTEGRE FTeRERERA -

2
ry % SESAME
= | www.sesamemotor.com




SERVO MOTOR GEARHEADS

=

* SESAME

=)
:G'
www.sesamemotor.com



